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QUESTION 1

An application frequently requests data (from s Coherence cache configured with a cache loader) that may not be
available in the underlying data source. The cost of looking up data via the cache loader is expensive in terms of time
and resources. 

To reduce these costs, which configuration should be used to cache the notion that an entry is not available? 

A. Modify the application to maintain a "misses" cache to keep track of the entries that were expected to be found in the
other cache, but were recently not found. 

B. Configure a "cache-miss-scheme" on the appropriate cache. 

C. Modify the cache loader to maintain a "map" of entries not found, and consult this map before attempting to load an
entry from the external source. 

D. This can\\'t be achieved with Coherence. 

Correct Answer: A 

 

QUESTION 2

A Coherence node dies and is removed from a cluster. 

What two actions occur if that node was part of a distributed cache where backup_count = 1? (Choose two.) 

A. Access is blocked to all operations while the cluster is rebalanced. 

B. Data is re-partitioned so that all data is accessible again. 

C. Partitions are moved so that the data is balanced among remaining nodes. 

D. Backup partitions are promoted to be primary, and new backups are created. 

Correct Answer: AC 

 

QUESTION 3

For operations that act on data that exists on multiple nodes, Coherence can do the processing in parallel, and put
together the partial results from each node into a single result before sending it to the client. 

Which feature in Coherence can be used to achieve this? 

A. Filters 

B. aggregators 

C. Indexes 

D. Entry Processors 
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Correct Answer: B 

 

QUESTION 4

What three actions can you perform while using Oracle Virtual Assembly Builder (Studio and/or Deployer)? (Choose
three.) 

A. Create deployment plans. 

B. Create appliances and assemblies. 

C. Build and package. 

D. Transfer and deploy via Deployer. 

E. Back up and restore. 

Correct Answer: ABD 

 

QUESTION 5

Your data client query needs to produce a fast initial response. 

Which two approaches will optimize your query? (Choose two.) 

A. Use a LimitFilter to limit the result set returned. 

B. Use a near cache to cache results locally to be re-used. 

C. Wrap the filter by using a PartitionFilter. 

D. Re-order the filter criteria. 

E. Access the keys first and then the values. 

Correct Answer: BD 
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